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Introduction

• OBJECTIVE: Identify the inventory policies 
that will fit a remanufacturing environment:
– sequential disassembly and selection processes
– random yield in each process
– known demand

• ASSUMPTION:  There is no shortage of used 
goods to feed the process:
– plentiful stock of used goods
– uncertainty is generated by the wear state
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Multi-Echelon Inventory Process
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Financial and Physical Holding Cost
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Financial and Physical Setup Cost
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Optimal Inventory Policy
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Optimal Inventory Policy
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Example
Disassembly Process:
kd = $30/process
hf,d = $0.5/unit-yr
hph,d = $2/unit-yr
pd = U[0.5, 0.95]

Repair Process:
kr = $6/process
hf,r = $4/unit-yr
hph,r = $2/unit-yr
pr = U[0.75, 0.95]

D = 600 units/yr 1
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